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YRR ERENo. FRTED & BTH 5):00) (m) sen | H4RE | BHES (zﬁ) (gi) R "%
FF—n 101 FRH TR A 2-9-8 R PR 2 PEEE FRL 4 4E 3 A 2DK 42 ¥ 53,000 = 164 2 = 2= AT (RERGEAHE - BERR)
FF—n 205 FRH TR A 2-9-8 R PR 2 PEEE FRL 4 4E 3 A 2DK 42 ¥ 56,000 = 164 2 = 2= AT (RERGEAH: - BERR)
S74—L 1%# 102 K H AR 618-1 R PR 2 PEEE FRL 4 4E 9 H 2DK 39.5 ¥ 57,000 = 164 2 = ZEE AT (RERIEAH: - BERR)
77+—L 3&H 202 AR ARER 618-1 R R 2 R Tk 12 4E 8 A 2LDK 50.48 ¥ 69,000 = 164 2 = 225 MAZE (RERIEA: - BFERE)
JvRxa—t 1 202 BEHHSER 536-17 ERERE 2 B FRE 13452 H 2DK 44 ¥ 65,000 = 1 &6 2 = 225 MAZE (RERIERAL - HERR)
-y X 201 PR SIEARTT 47-11 BER B 2 R FRL 5 4E 7 A 2DK 42.75 | ¥56,000 = 1 &6 2 = 225 AT (RERAERAL - HERR)
€—3I-UxR Aff 201 PR O 1-4-4 BER BT 2 R FRL T 4E3 A 2LDK 50 ¥ 74,000 = 1 &6 1 = 225 AT (RERIERAL - BERR)
t—3-JxR CHE 102 PR AR O 1-4-4 ER R 2 R FRLT4E3 A 3DK 50 ¥ 72,000 = 1 &6 1 = 225 AT (RERIERAL - HERR)
€—3-YJxx Dff 202 PRH AR OH: 1-4-4 BER B 2 R FRLT4E3 A 3DK 50 ¥74,000 = 1 &6 1 = 225 AT (RERAERAL - HERR)
t—31-Jxx Gff 201 BRI A O 1-4-3 R SR 2 PEEE TR T 4E3 H 2DK 42 ¥66,000 = 1&ff 1 = ELE AT (RERAERH: - BERR)
oy -_LrYz B 101 FRH A E DAL 3-16-2 R SR 2 PERE FRL94E 2 H 2DK 43 ¥66,000 = 1 &ff 2 = ELE AT (RERERH: - BERR)
vy -~_1Yx E 101 BRHT A D4 3-16-1 PR 2 R ERk 942 A 2DK 43 ¥64,000 = 1A 2 = ZEE IMAZ (RERIESE - BERR)
ISP Aff 201 BRHT A D F: 6-24-5 PP 2 R Rk 10 4 2 A 1K 24.71 ¥56,000 = 1A 2 = ZEE IMAZ (RERIESE: - BERR)
SAPa B 108 BRHT A D F: 6-24-5 PP 2 R SRR 10 49 A 1k 24.18 ¥53,000 = 1A 2 = FITE | AR (RERIEAH - BERR)
SAPa B 202 BRHT A D F: 6-24-5 PP 2 R SRR 10 49 A 1k 24.18 ¥55,000 = 1A 2 = ZEE IMAZ (RERIESE - BERR)
ALY BEf 205 BT A B DL 6-24-5 BB 2 B AL 10 45 9 H 1k 24.18 | ¥55,000 = 1 A6 2 = EEE A (RERIERAL - HERR)
ALY BEf 206 BT A B DL 6-24-5 BB 2 B AL 10 45 9 H 1k 24.18 | ¥55,000 = 1 A6 2 = ZEE MAZE (RERIERAL - HERR)
ALY BEf 209 BT A B DL 6-24-5 BB 2 R AL 10 45 9 H 1k 24.18 | ¥56,000 = 1 A6 2 = ZEE AT (RERAERAL - HERR)
b7 Y z—n CHf 102 BT AT DA 15-14 TRk 2 PEEE SR 12 4E 2 F 2DK 43 ¥65,000 = 1A 1 = FBRTE | AR (RERIESt: - HERR)
b7 - v =—n Eff 201 BT AT DN 15-14 TRk 2 PEEE SR 12 4E 2 H 2DK 43 ¥65,000 = 1A 1 — ZEE MAZ (RERGERL - BERR)
b7 - v =—n Eff 202 BT AT DA 15-14 TRk 2 PEEE SR 12 4E 2 H 2DK 43 ¥65,000 = 1A 1 — ZEE MAZ (RERGERL - BERR)
KNS 2781 201 PR AT DA 18-9 HEPRE 3 R R 14411 H | 2LDK 57 ¥83,000 = 1A 1 = EE AT (KERIESH: - BERBR)
v E— N a—FH 201 BRI G 1-20-1 REP 2 R SR 18 4 3 H 2LDK 61.6 ¥64,000 = 1 a6 1.5 1 ZEE MAZ (RERFERHL - BELRR)




